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Since Epoch's founding, we have defined ourselves as investors who focus on free
cash flow rather than on earnings. The quickest way to summarize our philosophy
would be to say that it is the ability to generate free cash flow that makes a
A PRINCIPAL DIFFERENCE company worth something to begin with, and it is how management allocates
BETWEEN ACCOUNTING AND that free cash flow t'hat deter[‘mnes whether Fhe value of the t?’usmess I‘ISES‘OF
falls. Our recent white paper “The Capital Reinvestment Story” focused mainly on
FINANCE HAS TO DO WITH the second half of that statement —we demonstrated how companies grow their
THE TIME VALUE OF MONEY. intrinsic value by reinvesting their free cash flow in projects that earn a marginal
return on invested capital that is higher than the firm's marginal cost of capital.
In this paper, we turn our attention to the first half of our statement, and ask two
questions: 1) Why does free cash flow matter more than earnings in determining
the value of a business, and 2) do free-cash-flow metrics help investors identify
stocks that outperform the market?

I. WHY DOES FREE CASH FLOW MATTER?

Earnings have long played a dominant role in the way that most investors evalu-
ate a company. That is perhaps not surprising; earnings are the best estimate of
a company's profit based on generally accepted accounting principles (GAAP),
and they are, after all, also known as “net income.” That sounds pretty definitive.
But, as we have often noted, GAAP earnings do not correspond to the actual
cash that a business has generated. Rather than tracking the actual flow of cash,
GAAP accounting seeks to match up related revenues and expenses as closely
as possible in time, even if the cash flows associated with those revenues and
expenses occur far apart in time. It does this through the creation of accruals —
i.e., recognizing revenues or expenses for which no cash has actually changed
hands yet. Depreciation expense is nothing but the flip side of this logic — defer-
ring the recognition of a large cash outflow that has already occurred into a series
of expenses extending well into the future.

You can certainly understand the logic behind these rules, and at first glance it
may seem that they should not matter much to investors evaluating a company.
Take depreciation, for example. Suppose a company spends ten million dollars
on a new factory. Does it really matter whether we account for that with a $10
million charge in the year the factory is built or with a series of one million dollar
charges over ten years? Either way, it is a $10 million expense, right?

Wrong. The difference between these two ways of thinking about the cost of
building that factory has to do with the central concept of finance: the time value
of money. Just as a dollar of revenue a year from now is not equal to a dollar
of revenue today, a dollar of expense a year from now is not equal to a dollar
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of expense today. This is why we at Epoch so often talk about the difference
between accounting and finance: GAAP rules ignore the impact that moving the
recognition of cash flows around in time has on present value calculations.

To illustrate the impact that accounting rules can have, consider that same
example of a company that builds a factory costing ten million dollars. Suppose
the facility will last for ten years. Each year that it is in use, the company will need
to spend $400,000 on materials and $800,000 on labor, and the resulting output
will generate sales of $2.5 million. (We will ignore inflation and taxes for the
purposes of this example.)

Table 1 shows how the project would look under GAAP accounting rules. Because
the factory will last for ten years, its cost is allocated across those ten years, and
the company recognizes $1 million per year in depreciation expense (assuming
that the company uses straight line depreciation). Factoring in the costs of materi-
als and labor, this comes to $2.2 million in annual expense versus $2.5 million in
revenue, producing $300,000 in net income each year.

TABLE 1: ACCRUAL BASED ANALYSIS

Present

Value of

Time Labor Net Income
0 $0 $0 $0

$0 $0 $0
1 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $285,714
2 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $272,109
3 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $259,151
4 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $246,811
5 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $235,058
6 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $223,865
7 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $213,204
8 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $203,052
9 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $193,383
10 -$1,000,000 -$400,000 -$800,000 $2,500,000 $300,000 $184,174

Totals  -$10,000,000 -$4,000,000 -$8,000,000 $25,000,000  $3,000,000  $2,316,520

In the right hand column, we have shown the present value of these annual
income figures, discounted at 5% per year. In this example, we have chosen the
number somewhat arbitrarily, but in real life, where does that discount rate come
from, and what does it reflect? You can think of it in two ways. From the point

of view of investors supplying capital to the company, it represents the return
that they could be expected to earn on their money through similar investments.
Depending on whether they are supplying debt or equity capital, and on the
nature of the cash flows being discounted, in some situations it might make sense
to use a risk-free rate like the yield on Treasury bonds, while in others it might
make sense to add a premium on top of that rate to reflect the riskiness of the
project. To the investors, the discount rate is essentially the opportunity cost of
investing in this company rather than in something else. From the point of view
of the company itself, it represents the cost of capital associated with the project.

As shown in the right hand column of Table 1, the project generates positive
net income every year, and the total present value of its accounting earnings is
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just over $2.3 million. Smart company management should approve this project,
should it not?

TABLE 2: CASH FLOW BASED ANALYSIS

Present
Net Cash Value of
Time Flow Cash Flow

-$10,000,000 -$400,000 -$10,400,000  -$10,400,000

1 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $1,238,095
2 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $1,179,138
3 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $1,122,989
4 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $1,069,513
5 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $1,018,584
6 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $970,080
7 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $923,886
8 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $879,891
9 $0 -$400,000 -$800,000  $2,500,000  $1,300,000 $837,992
10 $0 $0 -$800,000  $2,500,000  $1,700,000 $1,043,653
Totals -$10,000,000  -$4,000,000  -$8,000,000 $25,000,000  $3,000,000 -$116,179

Perhaps not. Table 2 shows how the project looks when we consider the actual
cash inflows and outflows that take place each year.

From a cash flow perspective, the $10 million required to build the factory is an
immediate cost (referred to in the table as occurring at “time zero,” meaning the
start of the first year). In addition, the firm will have to spend $400,000 up front
in order to obtain the materials needed to produce its product for the first year.
So the firm faces a total cash outflow of $10.4 million at the inception of the
project. In years 1 through 9, it spends $800,000 on labor (for the current year)
and $400,000 on materials (to have on hand for the following year). In year 10,
the firm must still pay for labor, but does not have to spend money on materials,
as the project will end after ten years, so there is no need to replace the materials
that are used in that final year. Meanwhile, $2.5 million in revenue comes in each
year. The “Net Cash Flow” column shows the resulting amounts of actual cash
that flow in or out each year, and once again, the final column shows the results
of discounting those cash flows back to present value terms at a 5% interest rate.

If you compare the figures in the bottom row of Table 2 to those of Table 1, you
will note that the nominal totals for plant construction, materials, labor, and sales
are all unchanged: the plant costs $10 million, and over ten years the company
will spend $4 million on materials and $8 million on labor while generating $25
million in revenue, for a net cash flow of $3 million. And that $3 million in net
cash flow, in nominal terms, corresponds exactly to the $3 million in total net
income that the project will generate over ten years. But, while Table 1 said that
the $3 million in GAAP net income had a positive net present value of over $2.3
million, Table 2 shows that the actual cash flows associated with the project have
a negative net present value of -$116,000. In other words, this project will reduce
the value of the company, despite generating over $3 million in what GAAP rules
say is net income.
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What accounts (no pun intended) for this discrepancy? The answer has to do
with the time value of money. By pushing the recognition of the construc

tion expense out into the future, GAAP rules reduce the present value of that
expense. The accrual view has the company spending $1 million each year for
ten years on construction, yet even though that comes to $10 million in nominal
terms, the present value of those ten $1 million charges is only $7.7 million.

But the company actually has to spend $10 million today, not $7.7 million, to
build the factory. So accounting rules have the effect of reducing the expense of
building the factory and making the project appear to be profitable. A manager
who relies on the accounting view may well end up approving a project that is
going to reduce the real value of the company, even as it adds to the company's
reported earnings. If you think that is unlikely, keep in mind that many managers
are paid based on corporate earnings, not cash flows.

It may seem counterintuitive to say that a project that generates positive net
income is lowering the real value of a company, so let's explore what that
statement really means. Once again, the answer has to do with the time value of
money. Consider what the balance sheet for the project we have been discussing
would look like over time if we treated it as a standalone business, as shown in
Table 3.

TABLE 3: PROJECT BALANCE SHEET

Time 0, morning: Issues stock

Cash $10,400,000 Shareholders Equity $10,400,000
Total Assets $10,400,000 Total Liabilities and Shareholder Equity $10,400,000

Cash N

Inventory $400,000

Net Plant & Equipment $10,000,000 Shareholders Equity $10,400,000
Total Assets $10,400,000 Total Liabilities and Shareholder Equity $10,400,000

After Year 1

Cash $1,300,000

Inventory $400,000 Retained Earnings $300,000

Net Plant & Equipment $9,000,000 Shareholders Equity $10,400,000
Total Assets $10,700,000 Total Liabilities and Shareholder Equity $10,700,000

After Year 10

Cash $13,400,000

Inventory S0 Retained Earnings $3,000,000

Net Plant & Equipment SO Shareholders Equity $10,400,000
Total Assets $13,400,000 Total Liabilities and Shareholder Equity $13,400,000

We assume here that the company issues $10.4 million in new stock one morn-
ing to generate the cash it needs to pay for the factory and for the first year's
materials. The first section of Table 3 shows that after the stock issuance, the
balance sheet has $10.4 million in cash and $10.4 million in shareholders equity.
That afternoon, the company pays for the construction of the factory (which,
amazingly, is finished that same day) and for the raw materials. The company
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now has no cash, but has $400,000 in inventory and $10 million in net plant and
equipment (since there has been no depreciation expense yet).

At the end of the first year, the company will have generated $1.3 million in cash,
as we saw in Table 2 — it will have taken in $2.5 million in sales, and will have
paid out $800,000 to its workers and $400,000 to buy more raw materials for
the next year. Its balance sheet will now show $1.3 million in cash, and the same
$400,000 in inventory as before. Because it will have taken a $1 million dollar
depreciation charge to reflect one tenth of the cost of the factory, the net plant
and equipment will have fallen to $9 million. Meanwhile, on the right hand side
of the balance sheet, the $300,000 in net income shows up as retained earnings.
The size of the balance sheet has grown from the original $10.4 million to $10.7
million, reflecting that $300,000 in net income.

Skip ahead to the end of year 10, and the balance sheet will look like the bottom
section of Table 3. The company will have $13.4 million in cash, no inventory, and
the plant and equipment will have been fully depreciated to zero. On the right hand
side, the ten years of net income show up as the $3 million in retained earnings on
top of the original $10.4 million in shareholders equity. As Tables 1 and 2 showed,
the net effect of the ten years of operations has been to generate $3 million in cash
on top of the original $10.4 million that the company raised in its stock offering,
reflected as $3 million in retained earnings on the balance sheet.

This seems to indicate that the company grew in value. So why do we say that
the project reduced the real value of the business? The key word here is “real.”
We need to consider what the present value of the $13.4 million in cash at the
end of year 10 would be if we discount it back to the start of the project. And

in fact, using the 5% discount rate we have been using, that $13.4 million was
the equivalent of only $8.2 million at the start of year zero. In other words, the
company took $10.4 million and turned it into $8.2 million in year-zero dollars.
(That's where the “real” value concept comes in.) Alternately, you could look at it
this way: the company could have taken that $10.4 million it raised in year zero,
invested it at 5%, and ended up with $16.9 million at the end of year 10. Instead,
it built the factory and ran it, and ended up with only $13.4 million. That is how
a project that generates net income in nominal terms can end up destroying
value for shareholders in real terms. (Of course, if the project had generated no
revenue at all, and hence no earnings, the project would have destroyed value for
shareholders in nominal terms as well.)

Remember, the discount rate we use to derive present value represents the cost
of capital — i.e., what investors could earn by putting their money in something
else. In this case, since it was equity capital, the discount rate would reflect the
expected return on the broad stock market, and the results indicate that the
company performed worse than the average company. In which case, an investor
who participated in the stock offering would have been better off investing in

an index fund; the company's decision to build and run the factory reduced the
value of the investor's wealth relative to what that investor could have achieved
by owning the average company.

Looking at this situation from the perspective of capital allocation, we have speci-
fied that the company has a cost of capital of 5%. Now think about what kind of
Return on Invested Capital (ROIC) the company earned on this project. It gener-
ated $300,000 in income each year on an invested capital base of $10.4 million.
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That works out to an ROIC of less than 3% per year, more than 2% below the cost
of capital. That's why the project reduces the value of the company in real terms.

One last point before we move on: suppose that instead of issuing stock to fund
the new factory, management could have built it with $10 million in existing cash
that had been generated by other operations. Would that make any difference

in the analysis? In other words, is cash “free,” with no cost of capital associated
with it? The answer is no. The company could have distributed that $10 million to
shareholders through a cash dividend or a stock buyback, and the shareholders
could then have put the money to use in other ways. There is always an alterna-
tive use of capital, which means that all capital, even cash on hand, has a cost.

We noted earlier that compensation for corporate managers is often tied to
earnings-based metrics and not cash-flow metrics. In the example we have been
considering, those incentives could have led management to go ahead with a
project that actually reduced the real value of the business, because the project
generated positive earnings. But those incentives can also push managers in the
other direction - that is, to reject projects that add to the value of the business.

In Table 4 we have taken the same project we have been looking at and revised
just one element: the revenues. The plant still costs $10 million to build, and the
firm still incurs a total of $1.2 million in labor and materials costs to run the plant
every year. But now, revenue starts at a lower level - just $1.2 million in the first
year — and grows every year, eventually ending up at $5 million in year 10.

TABLE 4: CASH FLOW BASED ANALYSIS

Present
Value of
Time Cash Flow Cash Flow

-$10,000,000 -$400,000 -$10,400,000 -$10,400,000

1 $0 -$400,000 -$800,000 $1,200,000 $0 S0
2 $0 -$400,000 -$800,000 $1,500,000 $300,000 $272,109
3 $0 -$400,000 -$800,000 $1,800,000 $600,000 $518,303
4 $0 -$400,000 -$800,000 $2,200,000 $1,000,000 $822,702
5 $0 -$400,000 -$800,000 $2,600,000 $1,400,000 $1,096,937
6 $0 -$400,000 -$800,000 $3,000,000 $1,800,000 $1,343,188
7 NY -$400,000 -$800,000 $3,500,000 $2,300,000 $1,634,567
8 S0 -$400,000 -$800,000 $4,000,000 $2,800,000 $1,895,150
9 S0 -$400,000 -$800,000 $4,500,000 $3,300,000 $2,127,209
10 $0 $0 -$800,000 $5,000,000 $4,200,000 $2,578,436
Total -$10,000,000 -$4,000,000 -$8,000,000 $29,300,000 $7,300,000 $1,888,601

This may be implausible for a manufacturing business (i.e., how can you grow
your revenues that much without also incurring greater costs for materials and
labor?), but it could easily describe a service business. Think of a firm that oper-
ates an internet search engine, and generates its revenue from advertising. It
spends $10 million to build a building to house its operation, and the building
costs $400,000 per year to operate (electricity, heating oil, and so on). The firm
pays its employees $800,000 per year. A firm like this could see its revenue

grow in the way we have shown here if its search engine became more and more
popular, without seeing its operating or labor costs necessarily go up. In this case,
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starting this business would generate positive net present value of almost $1.9
million over the ten years, and the cash flow turns positive in year two.

How would this revised scenario look on an accrual basis? The figures are in Table
5. The key thing to note is that while the present value of the earnings stream is
still positive (and is also still greater than the cash flow view, because the startup
costs are being spread out over the ten years and then discounted), the company
will have negative earnings from the project in years one, two, and three, and will
only break even in year four before starting to see positive earnings in year five.
In the original example, the project generated positive earnings every year. The
reason that earnings don't turn positive until year five in this example is that the
revenue starts out at a lower level. This is offset, of course, by the fact that the
revenue grows to much higher levels in the later years, so that the total earnings
over time are much greater than in the original example.

TABLE 5: ACCRUAL BASED ANALYSIS

Present

Value of

Time Labor Net Income
0 $0 $0 $0

$0 $0 $0

1 -$1,000,000 -$400,000 -$800,000 $1,200,000  -$1,000,000 -$952,381
2 -$1,000,000 -$400,000 -$800,000 $1,500,000 -$700,000 -$634,921
3 -$1,000,000 -$400,000 -$800,000 $1,800,000 -$400,000 -$345,535
4 -$1,000,000 -$400,000 -$800,000 $2,200,000 S0 S0
5 -$1,000,000 -$400,000 -$800,000 $2,600,000 $400,000 $313,410
6 -$1,000,000 -$400,000 -$800,000 $3,000,000 $800,000 $596,972
7 -$1,000,000 -$400,000 -$800,000 $3,500,000 $1,300,000 $923,886
8 -$1,000,000 -$400,000 -$800,000 $4,000,000 $1,800,000 $1,218,311
9 -$1,000,000 -$400,000 -$800,000 $4,500,000 $2,300,000 $1,482,601
10 -$1,000,000 -$400,000 -$800,000 $5,000,000 $2,800,000 $1,718,957

Total  -$10,000,000 -$4,000,000 -$8,000,000 $29,300,000 $7,300,000 $4,321,300

So the project looks good on both a cash flow and an accrual basis. Surely the
firm should go ahead with the project. Once again, though, consider the point of
view of the managers who are making the decision, and assume that net income
drives their compensation. This project will generate negative GAAP earnings for
its first three years, and will break even in year four. Management might worry
that the board will replace them, or that activist investors may seek to oust them,
before the project has had a chance to start generating positive earnings. So here
we have a case where even though the project increases the value of the com-
pany when you look at the net present value of the cash flows, and even though
the cash flow turns positive three years before the earnings do, management may
reject the project.

The point of these hypothetical scenarios is straightforward: because the rules
behind GAAP earnings ignore the time value of money, those earnings are not an
accurate measure of whether a company is creating value. Management needs to
focus on cash flow in order to make sensible decisions. Similarly, an investor who
evaluates a company based on its accounting earnings may come to the wrong
conclusion about a company's value compared to one who focuses on how the
company generates and uses cash. This is why Epoch focuses on free cash flow.
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Il. DO FREE CASH FLOW METRICS WORK?

It's one thing to be able to demonstrate the superiority of free cash flow over
earnings on paper; it's quite another to show that free cash flow should matter
to investors in the real world. We turn now to the practical question of whether
focusing on free cash flow can help investors outperform the market. To answer
that question, we examined the predictive ability of two different measures of
free cash flow. One is a measure of value (trailing free cash flow yield) and the
other is a measure of growth (trailing trend growth in free cash flow). Note that
neither measure involves any forecasts of future free cash flow, but both rely
instead on trailing figures.

FREE CASH FLOW YIELD

We will start with the tests we performed on free cash flow yield. First, some
particulars. We looked at the efficacy of free cash flow yield in several universes
of stocks: the Russell 1000, the Russell 2000, the Russell 3000, and the MSCI
World indices. The time period that we examined varied depending on data
availability; for the three Russell indices, we looked at the period from 12/31/89
through 6/30/16, a span of twenty-six and a half years. For the MSCI World
index, the examination covered exactly twenty years, from 6/30/96 through
6/30/16.

We used each stock’s trailing one-year free cash flow at each month-end to
calculate a free cash flow yield for that stock; the free cash flow numbers were
based on a 45 day lag to take into account the delay before the figures are
reported. Perhaps most importantly, we normalized the figures by industry and,
in the case of the MSCI World universe, by country as well. We did this so as to
isolate the impact of free cash flow yield from industry and country effects. For
example, if every drug stock had a higher free cash flow yield than every bank
stock, but the banks ended up performing better than the drug companies over
the next month, that may have reflected a change in interest rates more than
any effect of free cash flow yield. By normalizing within industries, we eliminate
such industry impacts. We sorted the stocks on these normalized rankings as

of each month-end, divided them into quintiles, and then calculated the return
for each quintile over the subsequent month. We equal weighted the returns,
because we felt that equal weighting comes closer to matching what actively
managed portfolios look like than capitalization weighting does.

Table 6 shows the results for the stocks in the Russell 1000. The stocks in the
top quintile outperformed the overall average by roughly 5% per year, while

the stocks in the bottom quintile underperformed the average stock by about
6% per year. The top quintile exhibited slightly more volatility than the average
stock, but not dramatically so, while the bottom quintile stocks were actually the

TABLE 6: PERFORMANCE OF FREE CASH FLOW YIELD QUINTILES WITHIN THE RUSSELL
1000 INDEX 1/1/90 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 15.2% 18.2%
Quintile 2 11.7% 16.6%
Quintile 3 10.1% 16.6%
Quintile 4 9.9% 16.6%
Quintile 5 4.3% 20.4%
All stocks 10.2% 17.4%

Source: FactSet, Epoch Investment Partners.
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most volatile. Stocks in the second quintile outperformed by 1.5% per year, while
quintiles 3 and 4 were roughly in line with the overall average. The three middle
quintiles exhibited modestly lower volatility than the universe as a whole.

Figure 1 shows the cumulative relative performance of each quintile versus the
overall average, and it makes for an impressive picture. (A word on how these
performance charts work. They show the ratio of the value of a dollar invested
in each quintile to a dollar invested in the average stock. When a line is rising,
it means that quintile is outperforming the average stock; when it is falling, the
quintile is underperforming.) But note that as remarkable as the cumulative
results are, they do not mean that the top quintile outperformed each year.

In fact, of the 26 full calendar years included in the chart, from 1990 through
2015, the top quintile outperformed in 17 years and underperformed in 9 years.
The reason that the cumulative results are so strong, even with the top quintile
underperforming roughly a third of the time, is that when the top quintile did
underperform, the margin tended to be small, whereas when it outperformed,
it sometimes did so by wide margins. It is also worth noting that 2015 was one
of those 9 years in which the top quintile underperformed, by about 2.4%. In
addition, the top quintile underperformed for three straight years from 2010
to 2012, though by less than 1% in each year. Nevertheless, the most recent
five year period, ending 6/30/16, ranks as one of the worst periods of relative
performance for the top quintile.

FIGURE 1: FREE CASH FLOW YIELD QUINTILES, RUSSELL 1000, EQUAL WEIGHTED
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Source: FactSet, Epoch Investment Partners.

The results for the Russell 2000 and Russell 3000 were even more dramatic.
Within the Russell 2000, the top quintile of free cash flow yield stocks out-
performed the overall average by 8.7% per year, and the bottom quintile
underperformed by 10.8% per year. Once again, the bottom quintile had the
highest volatility as well as the worst performance. And in this case, the top
quintile actually had volatility that was right in line with the overall universe. The
Russell 3000, of course, is simply a combination of the Russell 1000 and the
Russell 2000, and since we were equal weighting the results in our tests, the
results for the Russell 3000 were in between the results for the Russell 1000 and
the Russell 2000, skewed more toward the results for the Russell 2000. Within
the overall Russell 3000 universe, the top quintile outperformed by 7.5% per
year with market-like volatility (actually slightly lower), while the bottom quintile
underperformed by 10.0% per year and had the highest volatility of any quintile.
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The performance tables and charts for the Russell 2000 and 3000 are shown in
the appendix.

Turning to a global universe, we found that free cash flow yield was an effective
predictor of performance within the MSCI World index as well. As Table 7 shows,
for the twenty-year period ending in June of 2016 (a different period than the one
covered in Table 6 for the Russell 1000), the most attractive quintile of free cash
flow yield stocks outperformed the overall universe average by 3.4% per year,
while the bottom quintile underperformed by 3.7% per year. As we saw in the
other universes, the least attractive stocks also experienced the highest volatility.

TABLE 7: PERFORMANCE OF FREE CASH FLOW YIELD QUINTILES WITHIN
THE MSCI WORLD INDEX 7/1/96 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 9.9% 17.5%
Quintile 2 8.0% 16.1%
Quintile 3 6.8% 16.2%
Quintile 4 6.0% 16.4%
Quintile 5 2.8% 18.8%
All stocks 6.5% 16.8%

Source: FactSet, Epoch Investment Partners.

Figure 2 shows the cumulative relative performance of the five quintiles and, as
was the case with the Russell 1000, the top quintile, while compiling by far the
best long-term relative performance, has struggled to outperform in the last five
years, even as the bottom quintile has continued to underperform.

FIGURE 2: FREE CASH FLOW YIELD QUINTILES, MSCI WORLD, EQUAL WEIGHTED
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Source: FactSet, Epoch Investment Partners.

We should note that none of these results include the impact of any transaction
costs that would be needed to turn the portfolios over each month, and therefore
they should not be taken as indicative of the actual results that an investor could
achieve. They certainly indicate, however, that using free cash flow yield as an
indicator of valuation can be helpful to an active manager.

FREE CASH FLOW GROWTH

We've looked at how well free cash flow yield predicts subsequent performance.
How about free cash flow growth? Do historical growth rates in free cash flow

EPOCH PERSPECTIVES: FREE CASH FLOW WORKS 10



give us any insight into future performance? Our second set of tests examined
that question, using the same universes and time periods as we used in our free
cash flow yield tests. We calculated a free cash flow growth rate for each stock
over the trailing five year period as of each month-end. In calculating free cash
flow growth, though, we did not use the point-to-point change between a stock's
free cash flow at two points in time separated by five years, because that does
not necessarily give the most accurate picture of what the trend has been. Rather,
we calculated a trend growth rate, by incorporating the company's free cash flow
for each of the trailing five years. Think of it as plotting those five numbers on a
chart, moving from left to right over time, and then finding the line that best fits
those data points. The slope of that line is the trend growth rate. Once again, we
normalized the results by industry and region.

Table 8 shows the results for the stocks within the Russell 1000, which are also
shown in Figure 3. The data indicate that free cash flow trend growth does con-
tain some information about subsequent performance, but that information is not
as meaningful as what we can learn from looking at free cash flow yield. Notice
two significant differences between Table 8 and Table 6 (which showed the free
cash flow yield data for this same universe). First, while the bottom two quintiles
of free cash flow growth were the worst performers, the top quintile was not

the best performer; in fact, it came in third, though it did still outperform the
universe average. Second, the margins of outperformance and underperformance
were smaller. In Table 6, the spread between the best and worst performing
quintiles (which were Quintiles 1 and 5) was almost 11% per year. In Table 8, the
spread between the best and worst quintiles (with Quintile 2 being the best in
this case) was just under 6%. Overall, the results are certainly not bad: the top

TABLE 8: PERFORMANCE OF FREE CASH FLOW GROWTH QUINTILES WITHIN THE
RUSSELL 1000 INDEX 1/1/90 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 11.3% 17.5%
Quintile 2 12.8% 17.2%
Quintile 3 12.6% 15.9%
Quintile 4 8.0% 17.7%
Quintile 5 7.0% 19.2%
All stocks 10.2% 17.4%

Source: FactSet, Epoch Investment Partners.

two quintiles both outperformed the average stock with lower than average vola-
tility, while the bottom two quintiles underperformed with higher than average
volatility. But the results do suggest that a strategy focused solely on free cash
flow growth would likely not have done as well as one focused solely on free cash
flow yield. Avoiding the stocks with the worst trend growth would have helped
you avoid bad performers, but buying the stocks with the highest trend growth
would not have identified the best subsequent performers. (This is a good time to
note that the Epoch Core Model seeks to incorporate insights from both free cash
flow yield and free cash flow growth. We think it makes sense to incorporate both
metrics in evaluating a company.)

As before, we have included the equivalent tables and charts for the Russell
2000 and Russell 3000 in the Appendix. To summarize the results, free cash flow
growth was more effective at identifying good performers within the Russell
2000 than it was in the Russell 1000, but still not as effective as free cash flow
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FIGURE 3: FREE CASH FLOW GROWTH QUINTILES, RUSSELL 1000, EQUAL WEIGHTED
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yield. In the Russell 2000, the top quintile still did not perform the best, but it
came in second rather than third (the second quintile was again the winner), and
the margin of outperformance versus the average stock was still quite large (4.8%
per year, compared to 5.7% for the stocks in the second quintile). The fourth and
fifth quintiles underperformed significantly. Results for the Russell 3000 were a
mix of the results for the Russell 1000 and Russell 2000. Quintile 2 was the best
performer, outperforming by 5.4% per year, while quintiles 1 and 3 both ended up
outperforming by about 3.5% per year, and quintiles 4 and 5 lagged the average
stock by roughly 4% per year.

Table 9 shows the results of our free cash flow growth test for the MSCI World
universe, and Figure 4 displays the performance graphically. Once again, the
news is mixed. Free cash flow growth did contain some predictive information
about subsequent performance, but as we saw in the U.S. indices, the predictive
power was neither as strong nor as reliable as the information contained in the
free cash flow yield figures. In this instance, the top quintile did perform the
best, but the second quintile finished third and failed to outperform the overall
average. Furthermore, the scale of outperformance for the top quintile (as well
as the underperformance of the bottom quintile) was much more muted than we
saw in Table 7. Whereas the top quintile of free cash flow yield outperformed by
3.4% per year, the top quintile of free cash flow growth outperformed by less than
half that margin, 1.6% per year. (For the bottom quintile, the picture was similar:
underperformance of 3.7% per year in the free cash flow yield test, versus 1.3%
underperformance in the free cash flow growth test.)

TABLE 9: PERFORMANCE OF FREE CASH FLOW GROWTH QUINTILES WITHIN THE MSCI
WORLD INDEX 7/1/96 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 8.2% 17.0%
Quintile 2 6.5% 16.9%
Quintile 3 7.9% 16.7%
Quintile 4 5.7% 16.7%
Quintile 5 5.3% 17.5%
All stocks 6.5% 16.8%

Source: FactSet, Epoch Investment Partners.
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FIGURE 4: FREE CASH FLOW GROWTH QUINTILES, MSCI WORLD, EQUAL WEIGHTED
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SUMMARY AND CONCLUSION

We began by demonstrating the theoretical rationale for why free cash flow is a
sounder measure of a company's performance than its earnings. Over the long
term, the nominal totals of free cash flow and earnings will tend to look alike,
but timing matters. Accounting measures move the recognition of expenses and
revenues around in time relative to when the actual cash flows occur, and do not
take into account the time value of money. In the end, though, it is the timing of
the cash flows, not the accounting earnings, that matters in determining the net
present value of any project and, by extension, the value of the overall business
(which can be thought of as a collection of projects).

Real world evidence indicates that free cash flow does in fact matter in the stock
market. Within every universe we looked at, including US large cap, US small
cap, and global stocks, companies with higher free cash flow yields performed
better than companies with lower free cash flow yields. Trailing free cash flow
growth also provided some insight into future stock performance, with higher
trend growth being associated with better subsequent performance, but the
results were not as strong or as consistent as the results from free cash flow
yield. One other finding of note was that over the last five years, companies with
high free cash flow yield have not been able to outperform by the same margin
that we saw in earlier years. We suspect that the US Federal Reserve’s “quantita-
tive easing” (QE) policy had something to do with this phenomenon. As we have
discussed elsewhere, QE distorted the historical dynamics of the market, and
resulted in lower quality stocks (i.e., companies with less earnings stability, more
leverage, and lower return on equity) outperforming higher quality stocks for a
large portion of this time period. We have no way of knowing whether this is a
permanent change, but think it is reasonable to believe that in the absence of
QE, the historical pattern will reassert itself. It is worth noting that even during
this period in which stocks with the highest free cash flow yield have essentially
matched the market, stocks with the lowest free cash flow yields have still under-
performed. Thus, despite the distortions that QE introduced to the market, free
cash flow yield was still a useful tool for helping managers identify stocks to
avoid, which in its own way can be another source of outperformance.

Taken together, the theoretical logic and the empirical evidence make a convinc
ing case for relying on free cash flow as a key metric for investment decisions,
and demonstrate the rationale for Epoch's investment process.
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Append |X TABLE A1: PERFORMANCE OF FREE CASH FLOW YIELD QUINTILES WITHIN THE RUSSELL
) ) 2000 INDEX 1/1/90 TO 6/30/16
Source for all graphs and tables in Appendix:

FactSet, Epoch Investment Partners. _ Annualized Return Annualized Volatility

Quintile 1 13.1% 20.3%
Quintile 2 9.4% 19.3%
Quintile 3 7.0% 19.3%
Quintile 4 4.2% 19.5%
Quintile 5 -6.4% 25.0%
All stocks 4.4% 20.3%

FIGURE A1: FREE CASH FLOW YIELD QUINTILES, RUSSELL 2000, EQUAL WEIGHTED
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TABLE A2: PERFORMANCE OF FREE CASH FLOW YIELD QUINTILES WITHIN
THE RUSSELL 3000 INDEX 1/1/90 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 13.9% 18.9%
Quintile 2 10.9% 17.8%
Quintile 3 8.2% 17.7%
Quintile 4 6.4% 18.3%
Quintile 5 -3.6% 23.5%
All stocks 6.4% 19.0%

FIGURE A2: FREE CASH FLOW YIELD QUINTILES, RUSSELL 3000, EQUAL WEIGHTED
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TABLE A3: PERFORMANCE OF FREE CASH FLOW GROWTH QUINTILES WITHIN THE
RUSSELL 2000 INDEX 1/1/90 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 9.2% 20.1%
Quintile 2 10.2% 18.7%
Quintile 3 7.1% 19.0%
Quintile 4 0.1% 22.4%
Quintile 5 1.5% 22.0%
All stocks 4.4% 20.3%

FIGURE A3: FREE CASH FLOW GROWTH QUINTILES, RUSSELL 2000, EQUAL WEIGHTED
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TABLE A4: PERFORMANCE OF FREE CASH FLOW GROWTH QUINTILES WITHIN THE
RUSSELL 3000 INDEX 1/1/90 TO 6/30/16

_ Annualized Return Annualized Volatility

Quintile 1 9.9% 18.9%
Quintile 2 11.9% 17.4%
Quintile 3 10.0% 17.0%
Quintile 4 2.2% 21.0%
Quintile 5 2.7% 20.9%
All stocks 6.4% 19.0%

FIGURE A4: FREE CASH FLOW GROWTH QUINTILES, RUSSELL 3000, EQUAL WEIGHTED
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E POCH | Epoch Investment Partners, Inc.

The information contained in this whitepaper is distributed for informational purposes only and should not be considered investment advice
or a recommendation of any particular security, strategy or investment product. Information contained herein has been obtained from
sources believed to be reliable, but not guaranteed. The information contained in this whitepaper is accurate as of the date submitted, but

is subject to change. Any performance information referenced in this whitepaper represents past performance and is not indicative of future
returns. Any projections, targets, or estimates in this whitepaper are forward looking statements and are based on Epoch’s research, analysis,
and assumptions made by Epoch. There can be no assurances that such projections, targets, or estimates will occur and the actual results
may be materially different. Other events which were not taken into account in formulating such projections, targets, or estimates may occur
and may significantly affect the returns or performance of any accounts and/or funds managed by Epoch. To the extent this whitepaper
contains information about specific companies or securities including whether they are profitable or not, they are being provided as a means
of illustrating our investment thesis. Past references to specific companies or securities are not a complete list of securities selected for clients
and not all securities selected for clients in the past year were profitable.
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